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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oS AR e Sedt Teq fan

(a) The demand curve P =a under perfect
competition has infinite price elasticity

of demand.
( Write True or False )

4 afcaferenee e v @41 P=a 3
oif2 fEfewrRre w5ty |
(W% & oR9% fordn )

A9 /926 ( Turn Over )



(2)

(b) If price elasticity of demand (ey)>1,

MR <0.
( Write True or False )

I 73 oiRw BfeFIRl (e,) >1, MR <O.
(o7 & S o )

(c) The Cobb-Douglas production function
0=AK a7 B is homogeneous of degree

( Fill in the blank )

FI-TSTA6 FRCNAT ST Fo Q = AK®LB

_ TEA|
( et 3% o %41 )

(d) State the conditions of point of inflexion
of a function.

51 TR 3 R o6z Tead 91 |
fe) Consumer’s surplus = — Price (P) %
Actual quantity demanded (Q)
( Fill in the blank )
TereR Tge = - %4 (P) x d4F©
- IR “if 1 (Q)
( 41fer 5% o479 1)
A9/926 ( Continued )

(3)

()  Determine the marginal propensity to
save (MPS) from the consumption
function C=50+0-6Y, where C is
consumption and Y is income.
Tefeell e C=50+0-6Y IS C 9 Topgsial
UFE Y @ U @R MR e 2@
(MPS) Sfejea |

(g) If marginal revenue function is given as
MR=40-0-60Q, find TR function.
A ofes o ¥ MR=40-0-6Q =, T
I Fe (TR) fAefg < 1

(h) State Euler’s theorem.

BTEART TAMICHT S 47 |

()  Construct the dual of the LP problem :
Maxiniize m = Bx
subject to
Ax<r
~and x20
e fayr (3f¥T IRGER (7@ (dual) !
feram -
Maximize © = Bx
subject to
Ax<r

.and x20
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0)

2. Answer the following questions :

(i )

Who has written The Theory of Games
and Economic Behaviour ?

The Theory of Games and Economic
Behaviour 31 faffee 2

el Ml AR Teq o

(@)

(b)

(c)

A9/926

What is pay-off matrix?

Pay-off (e 2

Distinguish between feasible solution’
and ‘optimal solution’ in a linear
programming model.

ART IRET AN SR S WF o[
S’ 9 A 2gen S |

a+c

ae . . oy = . ﬁnd
If the equilibrium price is P i d

the effects of increased values of aand b
on equilibrium price.

Ifs SR W ﬁzzj; 7y, SR TS

@o® q S b I T Jfa eorRedr fefa |

e ( Continued )

ox5=10

(d)

(e)

A9/926

(S)

Find the equilibrium income (Y) and
consumption (C) from the following
national income model

Y=C+.!r0 +G0
C=150+0-7Y
Iy =200, Gy =150

where Y, C, I, and G, denote national
income, consumption, investment and
government expenditure respectively.

wee Wl Erel SIEe SRR o[l SE S
(V) = Seizet (C) ey a1

Y=C+Iy+Gy
C=150+0-7Y
TS Y, C, I, TF G, 9 IS WO W,
Topestal, R S 59 I TR |

The marginal cost of a firm is given by
MC =3g2 -10g +6 with total fixed cost

equal to 100. Find the average cost (AC),
when output g =5.

@A @9 dfedrR afe I i (am
MC =3g2% -10g+6 o P & I =
100. 5% I/ (AC)T ¥W fady w1 e
T g =5 27 |

( Turn Over )



(6)

3. Answer any four of the following questions :

5x4=20

wore fign 2pergEd R e wiRbe Ted fors -

(@)

(b)

(c)

A9/926

By using product rule of differentiation,
prove that

MR:AR(PL]
€4

where MR, AR and e; represent
marginal revenue, average revenue and
price elasticity of demand respectively.

SRFE] AR e =R R 2= 59 @
MR:AR(l—iJ
€d
TS MR, AR W% e, 9 &4 Al S@, 5TC
Y S 79 bl R q@ike |

" If the demand function is D =20(P +1) 71,

find price elasticity of demand at P = 3.
D =20P+1)7! wfew ¥R P=3 fiqe
wif3m fefezreieer fefa 1 |

Prove that the maximum value of

Te. : i,
Y = x+— is less than its minimum value.
X

o T Ay = x+— T ARG T TR AR
X
ATSLF 9 |

( Continued )

(7))

(d) Given the producer’s supply function

X =+/-4+4P and market price P=10,
find the producer’s surplus.

Toe Al TRAMIT @IS Fo x = -4 + 4P

. I I@E 79 P =10 2, SAmE] Tge iy
<4l | .

(e) Define ‘primal’ and ‘dual’ of linear

0

4. Answer the following questions :

were fra E“lﬂ’iﬂ_—’ﬁ Taq fory
(@)

A9/926

programme and show its relationship
with the help of an example.

e Frew ‘4 W tre'T ik
S @01 TR T AR ST Crg e |

If I(t) = 2 crores of rupees per year, what
will be the capital formation in the
period of 4 years and also in the 4th

year?

M afs /eI (=2 M Sw =W, o
4 RIS A Mo iR RAm 29 e v
(4th) T=T© 9 2732

() In a perfectly competitive market,
the price of a product (Q) is ¥ 3 and
the total cost (C) of a firm is given by

C=%Q?’ ~40Q2% +10Q +10

( Turn Over )
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A9 /926

(i)

(8)

Find profit maximizing output and
maximum profit.

{ sfrafronER TER aTe T 2o
?ﬂ]ﬁq(@]wsﬁaﬂlﬁ%@q«aw@m

e

c=L0%-40? +10Q+10
3

20 35 o e (A Se A
e 3w S fef

The total cost function of a firm is
given below :

c=03-70%+20+16

Find out the level of output at
which average variable cost (AVC) 1s
minimum and also show that

MC = AVC at that level of output. |
5+5=10

S oifodr @9 T T FoR oo
SREC R ;

c=03%-70%+20+16

TS aftqgaA T (AVC) qred @R |
Sl o SISl W A A
O Besfrars MC = AVC 9 |

(b)

( Continued ) A9/926

(9)

Or / 9241

The demand functions (B and P,) and

total cost function (C) of a monopoly in

two different markets are P =80 -50Q,,

P, =180-20Q, and C =50 +200Q, where

Q =0, +Q,. Find the—

(i) profit maximizing output to be sold
in first and second markets;

(i) equilibrium prices of first and
second markets;

(i) maximum profit.

oA TR qER 73 o I vk e

(B, OF P,) OIF P9 I/ Fow (C) fram t=xm

P =80-5Q,, P,=180-20Q, S

C=50+20Q, ¥’ Q = Q, +Q,. Fdq T1—

) R e P s HRE G

TLATS AR
(i) A IGES SR 919
(iti) AT S |
(i) Define
production function.
(R Seona T Ty e & |
(i) If the production function is
Q=10K’JL, where O, K, L
represent output, capital and labour

respectively, verify whether it
satisfies the Euler’s theorem or not.

linearly homogeneous

10

( Turn Over )



( 10 )

It BeAqmT TG Q =10K# VL =,

TS Q, K, L 9 SWEE TeAMmA, T4

WE A qEE, Rrw ww @3 ORAm

FEAACOIR 2O T S8 0 (A2 |
(ii7) If the total cost (C) is given as

C=0-005x -0-02x? +30x+3000
where x denotes output, find—

(1) average cost of output, when

x=10;
(2) marginal cost of output, when

o I (C) TeTe i 1

C=0-005x> -0-02x2 +30x +3000
TS x @ T I@izce | Ay F1—

(1) TS AW I, e x =10 =W;
(2) @ifes Teeme I, @M x =3 = |

Or / Jq11

(i) If the marginal cost is given by
MC =20+4Q, where Q is output,
find the slope of the
variable cost (AVC).

4ifes I/ @ \eE MC =20 +40Q, TS
Q ¢ Teom JEECE | 1T ARTETNE IR
54 (slope) fefy 541 |

average

(©

(11 )

(i) Given the marginal propensity to
consume C’(Y)=0-8+0-1Y /2 and

the information that C=Y when
Y =100. Find the consumption
function C(Y). 5+5=10

sifge  Tecel  Fem frm MR
C'(Y)=0-8+0-1Y" 2 9= frq wmg

Y =100 2’ C=Y 29| To[cels e
C(v) AT 41 |

Use graphical method to solve the
following linear programming problem : 10

W(mﬂm)ﬁﬁ%mﬁﬁﬁwﬁm LP
ATAICET ST 4T

Minimize C = x; +4x,
subject to
X) +2x, 28
3x; +2x,5 212
and x; 20, x, 20

Or / %A1

What is linear programming? Write its
significance and limitations. 2+4+4=10

e IRE 7 WH ¥F AE NyR=meriz
ferar | :

1
. A9/926
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(12 )

(d) For the game with pay-off matrix given
below

were 741 pay-off (e IR

Player B
B, | B | By
Player A| 4 -2 4 —4
Ay 12 8 ~-12

(i determine the best strategies for

(1)

(it1)

()

()

A9—8000/926

players A and B.

a3 A SF BI SORSF TeE
EPEee! e 4

determine the value of the game.

4o =0 <1 AW e <94

Is the game fair or strictly
determinable?

CYEICO! Slel 1 RS ERe i 2
Or / 941
Define (i@l feran) :

Two-person constant-sum game

Write a note on the limitations of

10

the game theory. 4+6=10

Game theoryd FRzeR @/|Re 9ol
O fora |
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